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Homework 3 - Due 11/23/98

1.  Suppose we have a relation Parent(child, parent), storing pairs of

(X,Y) where X is a child of Y. Write a datalog query that returns the

set of pairs (A,B) if A and B are of the same generation. For example,

if the database contains the pairs:

 (bob, mike), (mike, martha), (denise, martha), (sally, denise)

then the query should return the pairs:

 (mike, denise), (bob, sally).

2.  Suppose we have a relation SubPart(part, sub), storing pairs of

parts of an assembly. Suppose that we have a relation Price(part,

value) telling us the price of every part, and a relation

Approved(part) telling which parts are approved for sale. 

a. Write a datalog query that returns the set of pairs (X,Y), where Y is

a subpart of X (either directly, or indirectly), and Y has been

approved and costs less than $100. 

b. Write a datalog query as in part a, except that all the parts on

the way from X to Y also need to be approved and each cost less than

$100. 

3.  Consider a database schema with the following relations:

Student (ssn, name)

Prof (ssn, name)

Course (number, instructor-ssn, title, credits, room#)

Enroll (student-ssn, course#)

Room (number, capacity)

Changed (table_name, key_value)

a. Write a single SQL row level trigger that does the following:  If the capacity of a Room is updated, (i) the new capacity is increased by 5, and (ii) a new tuple is inserted into the Changed table (this tuple will consist of the string "Room" and the number of the Room that was updated.

b. Write a single SQL statement level trigger that does the following: If the deletion(s) of any Course(s) lower any Prof's total teaching credits below 6, the deletion(s) is/are reversed or disallowed.  In other words, after the trigger executes the database will look as if the deletion(s) never occurred.





































































































































